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Haryana Police S.I (F) 2 Dec 2018 Paper

Number of lone pairs of electrons present
in XeF, molecule is

(A) 5 B) 4

(C) 6 (D) 3

__has been accorded the honor
of the ‘Surya Kavi' of Haryanvi music genres
Raagni and Saang.

(A) Surdas

(B) Kurmadas

(C) Lakshmi Chand
(D) None of the above

1 1 1
i —+—+—...to 10 terms.
Find the value of > + 3's to
5 -
A 3 B®
© Al (D) None of these
60

was the last king of Tomara dynasty,
who handed over the throne of Delhi to hie:
son-in-law Prithviraj Chauhan. %t oc ®

(B) Mabhipala
(D) Gopala

(A) Vijayapala
(C) Anangapala

The Article of Indian Constitution which
provides for equal opportunities for all the
people in public employment
(A) 16 (B) 17
(C) 14 (D) 15

Who won the Runners-up title of FIFA
Football World Cup 2018 ?

(A) Russia

(B) France

(C) Croatia

(D) None of the above

‘Piliya’ will be sung during occasion of

(A) Birth (B) Marriage

(C) Death (D) Holi
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g. 1P(M)=2"~11is diyigj
all natural numbers py t:éi iy_k. (k & N) for
(") 5 (B) 9
Cc) 7
AC) (D) None of these
9. ‘Sheikh chilli ka ma ")
(A) Agroha Abara 'SS?rilSuated in
C) Hisar a
©) (D) Thaneswar

10. Inwhichone of the followin |

recording station is not lo%gtgge?e arthquake
|

(2) };o katta (B) Kodaikenal

(C) Pune (D) Mumbaj

11. Following is not a part of human sperm
(A) Acrosome (B) Mitochondria
(C) Axial filament (D) Antrum

12 Haryang recently celebrated itg
foundation day.

(A) 42" (B) son
(C) 53" (D) 55"

13. A number consists of three digits whose
sum is 17. The middle one exceeds, tHé
sum of the other two by 1. If the digits be
reversed, the number is diminished by 396,
then the number is
(A) 494 (B) 593
(C) 681 (D) 692

14. is the smallest and the fastest
memory in computer.

(A) RAM (B) ROM
(C) Cache (D) Hard drive
. : - tler to
15. is the first Indian wres !
win two medals at the World Wrestling
) Championships.
2 -1 (A) Vinay Phogat
¢ (B) Sakshi Mallik
, (C) Bajrang Punia
M (D) Sushil Kll.lmar |
€C 16, Find the missing terms -
£
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17.  Orderofthe differential equation representing | 17, Waerd y2=4ax ¥ yREr ! GHRaTe! ST
the family of parabolas y? = dax is YR T 3 &
(A) 2 (B) Not defined dA) 2 B) Fuifa =
©) 3 (D) 1 (C) 8 D) 1
18. Index number of the lastelementofanarray | 18. 9 watarTel TF T & AfcH e ) gEhi
with 9 elements is ' o ?
(A) 9 (B) 10 (A) 9 (8) 10
C) 8 (D) 0 (C) 8 (D) 0
19. India’s first Bullet train will run between 19. g 1 Igelt goie 37 ¥ *
. , A
(A) Gandhinagar to Mumbél _(A) mief 3 EE'Q )
(B) Ahmedabad to Mumbai (B) 31311?.'1313 3 ’F‘g—
(C) Delhi to Mumbai (C) fechaged
(D) Surat to Mumbai (D) qW@ A
20. Anilintroduce Rohit as the “son of the only | 20. e Tfea =1 aftea 3ae e s geh *
brother of his father's wife”. How is Rohit TR 9T 6 G % ® A @ &) e
related to Anil ? AR A T HE R 7
(A) Cousin (B) Son _A) HET TS (B) T
(C) Uncle (D) Brothers .. .\ _p s (C) T (D) I8 |
21.  Which of the following decides the eastern | - 21. frifitad # & - wftamon i Jqoiew &
boundary of Haryana by separating it from 3T T B 3T Gl | i s g ?
Uttar Pradesh ? (A) i
(A) Ganga
(B) Yamuna AB) Ig
(C) Ghaggar Hakra (C) %:rrm: TR0
(D) Chandigarh (D) wETE
22, This district of Haryana is having least | 22, &%l i gfte & Blamom %1 gord 9 Ao &
amount of forest in terms of area Sreraren fore 8
(A) Rewari (B) Fatehabad (A) @ AB) e
(C) Gurugram (D) Jind (C) TEm™ (D) Sffg
23. Overloaded functions are 23, arfeemid wawH ®
(A) Long functions which cannot ' S B Sl 9e A
. (B) One function containing a:::gther (A) = = TN

function in it
Two or more functions wi
with
_rlr_ame, type and arguments same
0 ormore functions with
but differen ol
. tnumber of parameters or

(®)
(D)

-4-

(B) TS e fore gqurr e e
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 31freR

AD) F9H T Wl s aeht a1 YR A
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g4, Arrange the following vt

26.

27.

28,

29,

1. National Institute of their bage :
Solar Energy 8. Gurugram

2. Raja Ramanna Centrg b

for advance technology Indore
3. National Dairy
Research Institute & Karna)
4. National Bureay of d
Plant Genetic  New Delh
Resources

Select the correct op;j ;

(A) 1-a 2-¢ ph%nf EWT below :
B) 1-a 2-p g_. 4*d
(C) 1-a 2—d 3__b 4_-d
(D) None of the above -c

A capacitor filled w;i . _
of permitivity € = 2';tw°§eglﬁ:{fmc
charge acquired during a time interv.:l
T=3miies. Assumingth%hargetoIeakonly
through the dielectric material, the resistivity
's (charge decay takes Place according to
q =9, and half tim

e T, =0.693 RC)
(A) 1.39 x 10" Om

(B) 2.5x 10 Om
(C) 1.39x10 Om (D) 2.5 x 10-* Om

— was a major rebellior againsf
Aurangzeb, the Mughal Emperor, oécurred-|
in Narnaul and surrounding localities in the
year 1672, which was led by Sadh people.
(A) Sikh revolt (B) Sepoy mutiny
(C) Satnami revolt (D) None of the above

is the world's oldest still-functional
1855 — built steam locomotive.

(A) Kalka Shimla train

(B) Fairy Queen

(C) Palace of wheels

(D) None of these |

The Jejaka bhukti was the ancient name of

tra
(A) Allahabad B) Sauras

ur
(C) Bundelkhand (D)d::;‘:“;1 S Hoid
s acting ON 2 & 0 is
glg?:efg rg: > horizontal surface

jon
(A) Force duet0 surface tensio
(B) Force duet0 gravity

25.

Dire:

27.

28,

29,

4€) Both (A)and B
(D) Force due toVie

24.
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(a1 BT q = q,e/"C % IFFAR Brell & 3N
a1d ¥7g T, = 0.693 RC )
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(C) 1.39x 10-3Qm (D) 2.5 x 10-'® Om
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(C) i fame (D) IFAH YRR L
forea 1 wrehiaew anfi o =7 1855
H S 99 o B B
:};) FHrereht e 3
) Y efi
(C) Yo 7% ey
(D) ¥ @ 13 7
SR W
A @) g
F Ydel W Tl s
AR b RED Ea?ﬁigtr(
(A) IS 19 o FROT T
(B) T&ed o FRT I
(C) (A)3M (B) 2t
(D) WM &F FHR0 F

/

Scanned by CamScanner



3/2018 (5)
30. Three married couples are to be seated I
a row having six seats in a Clnema Hall
Find the number of ways of thelr seating (!
all the ladies sit together.

(A) 36 8) 72
©) 144 (D) None of these

The process of bringing & wild species U wer
human management is referred to as

(A) Acclimatisation

(B8) Introduction

{C) Domestication

(D) None of these

31

The highway research board was setup In

32.
the vear
(A) 1973 (B) 1953
(C) 1963 (D) 1947

CPU of smallest single user computer is
(A) Micro-processor
(B) Mini-processor
(C) Nano-processor
(D) Personal processor

i
FLad e

Recently P.M. Narendra Modi maugurated
India’s longest bridge in Assam, it's named

after

(A) Mohammad Rafi
(B) Manna Dey

(C) Kishore Kumar
(D) Bhupen Hazarika

35. Choose the pair of words that shows

the same relationship as given pair ;
Scalp : Hair.

(A) Home : Cattle

(B) Nail : Nailpolish

(C) Grass : Earth

\ carer= .
A tll\f"\ w{i" " l) rf M‘ 4

.a.
90, % frenfoa qued ) o fﬂ“:mf gim
& el o e vifepty i B &) Ay ol
o wienrt v e afa wyst wfier it &) o @

darn

~(A) 26 By 72

(C) 144 () gri 71 o 1l
a1, s il warifa w e gaive; i st 1A

&) wlaa e B

(A) et ,

AB) 1y 2

(C) wite] AAFAI
(D) gl @ g el

' 7w AT
32, vt savrE g ed AT

(A) 1973 AB) 1953
(C) 1963 (D) 1947
WW@WHWT@[&WW%
(A)

(B) ferfreren

,/éC A -t

V(o) Feft e

34 mﬂﬁﬁaﬁr&ﬁq.ﬂmﬁm%méﬁ
gamszgg;%mnmwm
T T T |

35. ¥ISG! 1 98 ST AT S I wey guitan B

T T ;W

(A) =9y
(B) ?r@:«' ﬁamﬁcm
AC) "™
(D) ™ aﬁiﬁ
1

zﬁ%A=J§_

430

d_

AZ
(B) 22

ar A2 4

Q'

5

(D) Fur:Cap
1
3. IfA= then A* +— =
\6—\/5 A*
(A) 4y30 (B) 22
X € 1 (D) None of these

-6-
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37. - Which ong of
matched 7
(A) Goat - Kjqq;
(B) Horse - Fod .
(C) Sheep .|
(D) Buffalg - Fa

38. Famous fory of

named b

39. Consider the vie

- R W 0
valley Civilization ancfi o
the following iS not atch
(A) Gorden Childe - The PeoEI: cc:l>f?the
Indusvalleybelonged
10 Sumerian race
The People of
Indus valley were
Dravidians
= The Indus people.

belonged to rhixed [
race

(D) John Marshal - The Indus people
belonged to
Mangolian race

(B) R.D. Banerjee -

(C) Dr. Guha

40. One of the new age transport systems

called Pod Taxi is proposed in India, it's a

(A) Cab pooling system by using drone§

(B) It's a Personal Rapid Transit
system (PRT)

(C) Driverless maglev train | |

(D) Helicopter service for essential services

41 Complete the anaogil:, . o AREE : 7

TUESDAY : UUFSCAY = aseD
(A) TQVASED TQVARED
©) Tavagep )

.cos 179°1s

o gos 2° 005 3
The value of cos1 cos2

1 @) 1
(A)

(C) 0

42,

2

(D) 2

37.

38.

39.

40.

41.

42,

3/2018 (5)
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43. Amrita Pritam was honoured by Bharatiya
Jnanpith award for her literary work
- (A) Rasidi Ticket
(B) Pinjar
(C) Sunehade
(D) Kagaz Te Kanvas

Which one of the following is not a featur®
of Marxist perspective on state ? _
(A) State is an instrument of exploitation
(B) State is temporary

(C) Classes never abolished

(D) State is Universal

44,

Rana Nimantrana, Guru Gobind Singh and
Yuddha Charita are the works of famous
Haryanvi poet

(A) Uday Bhanu Hans

(B) Khushiram Sharma

(C) Ayodhya Prasad Goyaliya

(D) Tulsiram Sharma Dinesh

45.

46.

46. ike other

Select the word which is least |
words in the group. B L
(A) Lake

(C) Wind (D) Current

47. Converse of the statement ‘If x :y=3:2 | 47.
then 2x = 3y’ is

(A) Ifx:y=3:2then2x =3y
(B) If2x=3ythenx.:y=3:2
(C) If2x=3ythenx:y=#3:2

(D) None of these 4

48.  Which Section deals with dowry death 7
(A) 498-A of IPC
(B) 489-A of IPC
(C) 304-Bof IPC
(D) 304-A of IPC

48.

49, Sgt of parallel printed lines with different
thickness of black and white characters js

(A) White code (B) Magnetic code
(C) Color code (D) Bar code

49.

43.

- 44,

45.

@ Aved SEVEPINFO

LT
mmﬂﬁﬁgli%léll q;fa :-E’f: .
%mmmwﬁmmw
| '

(A) Tt feshe
(B) gﬁ%
(D) mTet d heaTd L
PR & & a1 T T T AR
ofmm o o s A 8 7
(A) T T B TR TR 2 &
(B) T areerrfl 3
(C) = wft Zmgferal &t B
(D) T grEsifEe 2
Rrg ST 12| £
(A) 337 9T &F ]
(B) il wmi
(C) oFrea yETe MAferdn
(D) el ymi fgas f
I8 Y58 gAT S g § 3= viedl @ Hadr -
REEE Y . E
(A (B) T | 5
(C) & (D) &mr |
FITF I : A x:y=3:27Q
2x=3y'®
(A) TR x:y=3:27 2x 3y 'Y\f‘:};
4B) Aox=3ydx:y=3:2 /g”%
(C) Uﬁ2x¢3yﬂ"rx:y¢3:2
(D) T & g el &;

P ) |
2o BT & FH-H O w7 A
(A) IPCH 498-A |
(B) IPC a;% 489-AB y
(C) IPC st 304- q
(D) IPC I 304-A %*’7_/ %

Wamﬁﬁ%%ﬁaw%ma%;
Eqmwaﬁﬂai%
(A) T HIE (B) Hre

(C) HERFE (D) "W

Joiae
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51,

52,

83.

54,

55.

56.

57.

]
I
mﬁ N ety
) Sanjy Ade 1rq
©) Rang 8 o
Ny or Mohang

i Qanig D
S Calleg qg M Wit Morg tha: llluf«h. iy
(2) Monoplolds O gonomes
€)' Dipioig ®) Polypiog
angle be ©) Hapioig

and th ® minyy
10:1p hour han @ hand of 4
(A) 1200 9 when the fime
C) 1150 f[B); 1250
Complete the sar 95°

series stary;

num . arin ‘
Seriegel;}vfollow!ng the ge qu%:g:,h t;\e given
i - What will come in the plac‘:, oﬂg'in.?l
2 1830 g9 gy of (i) 7

[ N (1) S
(A) 135 (I )(B) 116
(C) 180 D) 72
In CPU,

i g =———___ poi
instruction to be executgd,ms to the next

(A) Instruction register BJ ey n s T

L 54,
eV

R e

(B) Program counter
(C) Memory buffer register
(D) Accumulator

Who is the current director of Haryana
Punjabi Sahitya Academy ?

(A) Gurvinder Singh

(B) Rakesh Sinha

(C) Narinder Singh Virk

(D) Ashwani Kumar

In the series of lett
followed. Determine the
AJKTUBILSVCHMRWD
(A) YZ (B
(C) ZA |
The probability of gefind
when a die is_rolled i

er a definite rule is
next two |etters.

GNQXEFO??

) PY

(D) PZ -
an even prime

1
2
4
6

B
@) @

D
©) (%)

(o) W RS R I V]

80,

B1.

55.

57.
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=
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(D) 3171 TR

UBICSVCHMBWRGNOXEEC? 2~
(A) YZ ) PY
(©) zZA oppz FF

T UTH 1 e T O 3T 88 S o
&1 Wit

(A) (B)

()] 1))




3/2018 (5) O O
58. Recently, Chief Minister of Haryana has | gg, el €1, Bftamm % G

approved signing of agreementfor ' Py A 7 BT mﬂwtﬁ T
would add new storage capacities on two T £y 74 awr A f# 7 BRI
tributaries of river Yamuna. SE
(A) Indira Gandhi dam () Fh teft At
(B) Bakhra dam (B) m;ﬂu_
(C) Kishau and Renuka dam (©) forams v et
(D) Anangpur dam (D) T AT
59. 2011 &I SEIUAT % HFIAT ag A
59. The states which have highest Density of S T FATEE
Population according to 2011 census are ) e P 3T T
(A) Kerala and Uttar Pradesh (B) foram o afgam @
(B) Bihar and West Bengal © fram #i faroeft
(C) Bihar and Delhi ) ﬁ‘gﬂt o o7 T2
(D) Bihar and Uttar Pradesh '
60. Select the significance of meiosis. 0. TeEAl farsrer 1 e GﬂEﬁl = ﬁl gl q@' 3 3
(A) It helps in growth of multicellular (A) a%a?ﬁ'rﬁﬂﬂ | ggEd
organisms Eanll -
(B) It helps in cell repair o of . (B) F® FifoTeR &l ATd | H%Tﬂﬂ'l aﬂgra%
C) It maintains the same number O ﬂﬁﬂﬁﬁmﬁm &
®) chromosomes in daughter cells as of © fﬁﬁm 3 aﬂtf&!?r g 2
parent cell v
(D) It creates variation Al .::'P - (D) e fafaerar gisa F © .,
61. ___isastructurebuiltin Chandigart? | 8%. it aregEr, o A T |
TETg 1 SRS T T HEAT 2| |

by legendary architect, Le Corbusier.
(A) Close hand monument

(B) Open hand monument
(C) Right hand monument (C) TII1 & TIh

(D) Left hand monument (D) AT g T
62. Before Independence, The high court of | 62. AT Id, giamn 3R e I A

(A) &E T TIH
(B) el &K TINF

Haryana and Punjab was situated at T feyra ol
(A) Amritsar (B) Rawalpindi (A) STAER (B) Tawifuet
(C) Peshawar (D) Lahore (C) U (D) TTER
63. Whowas the first speaker of the Lok Sabha ? |  63. e a1 JW Fdfieht &1 o1 7
(A) Neelam Sanjiva Reddy - - (A) o wsfia &
(B) M. A. Ayyangar (B) . T. IR
(C) Ganesh Vasudev Mavalankar oISt AR T
BIENERS
(D) Sardar Hukam Singh /fg; &R A foe
64. Geographically Haryana contains S IUIIEED @ g Eoiceell
legislative assembly constituencies. . &7 | Y A -
(A) 14 B) 10
i ((D; . (A) 14 (B) 10
) (C) 70 (D) 90
-10-
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66.

67.

68.

69.

70.

71.

72.

73.

C) H

Which of the f i
: ollowing does

to thg Sapta Sindhu’ or secgtnb?long

mentioned in Rigveda ? T

(A) Ravi B
(C) Markanda ((D; .?t:lee::ranb

Breeding Centre situated in Momi,Panchkula

distriqt IS a purpose-built centre for the
breeding of

(A) Blue peafowls
(C) Pheasants (D) Indian vulture

The Federal system with strong Central
Government has been borrowed from

(A) France (B) England
(C) Canada (D) USA

Hybrid computers are used to

(A) Convert the analog signals to digital
(B) Control air traffic and radar

(C) Workon binary digits

(D) None of the above

World Cup 2018,
d,? Lg&een India aljd
(B) South Africa

(D) Australia

India won ICC un
the final match too

(A) England
(C) New Zealand
o ‘Taka' in the same e
‘taly' 7

(B) Jamaicd

([)) hnexkﬁb

What is related t
as ‘Lira’ is related 10

(A) Jordan
(C) Bangladesh

(B) Chinkaraf_: Y

66.

67.

68‘

.

72.

73.

-11-
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frffiad § § FH-91 Fe § Sfeafad 9

iy A AfzA1 8 A A ? et
(A) Tl ® & Q)
(C) =Tl (D) Fom =
g, Gl | foum oA #2, UF T
F1 4T 2 2

A, Freft 7 B) fer=m

) drm (D) wWrdr firg
VIfFaoelt %3 TR * 919 g gore
__ aimR
(A) »rE (8) g
(©) Frst D) TEwT

Eﬁﬁgwﬁmm_ﬁmﬁ

(A) ¥ F@ F foau @ g% F:
wTafd F3 2

(B) QMZﬁﬂaﬂTmaﬁﬁwﬁamaﬁ

(©) ﬁmﬁmmm%@

(D) 37 4 & #r¢ 78
WA 3 et aiet 19 fava #9 2018 Sy
A A9 A M F ofra zam
(A) T8 (B) fam il
(C) 3irei-s (D) Feferm
T’ THEr | I yFE et 2 3 :
e a i
(A) & (B)
(C) smeme (D) R

L
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‘ ‘_ A abl bcq)_ LB o 78
3/2018 (5) ST e s
k y -3 — pe
74 fx=3,y=90"z=270and xoy=z%=1| 74, W x=3%y=0, z=27c AT yue
then abc = Mabc= ‘
(A) 11 (B) 27 (A) 1 (B) 27
1
C) — i 0 ;
( ')_ 27 (D) 0 (C) > | P) |
75. Initiation of milk secretion is called 75. Y @G0 h1 ARH P 4
(A) Lactogenesis (A) SFSARE RS |
(B) Galactogenesis (B) Mo > 1 \.f avl
(C) Galactopiosis (C) eRdaRE ’S’/g-—é:_ﬂ
(D) None of these (D) 8 & IS TE
76. According to Vayu Purana, which of the | - 7, gy qaor 3 a7gER, forerferfian o & SH-g,
following place is believed as the birth place T AT BN 1 S T & 7 1
of Lord Hanuman ? T feaw
(A) Karnal (B) Hisar (A) (®)
(C) Kurukshetra (D) Kaithal (C) Fe& (D) 3'3. aN 3
77. Consider the following about Rousseau’s [ 77, &t i T 3T * Hﬁﬁ SIIRICER
General will and choose the correct ﬁaﬂm}aﬂtqﬁmﬂﬁ | ¥
statements. : 11 mﬂmgﬂﬂ :ﬂﬁlﬂlﬁl% ‘
i. General will is the expression of inner ’ 1
will, i, W $oOT T £
i. General will is infalliable. iii. T8 U cafad 3 gaH 3901 ¢ |
iii. Itisthe |be$|t'Wi'" of the inacfividual. o iv. . ST g1 IHFREF R
iv. General willisimpersonal,  ag - . ;PN
(A) i, iii and iv B) ianditony PIro &) i v (B) Faet i M |
(C) iiandiv (D) all the above (C) i FRiv (D) 3IFa @l :
. c_iea;l_s witg t':ﬁ svnthtte,sis 01; 78. p-hrT-Seer it T T g
rrole derivatives by the reaction o el FY IR B g ¥ §
%yketo-esters with a- chloroketones in the ﬁ‘& o 3 o ‘ . % ,
presence of ammonia or primary amine. afurfsea q'sf,m ST T HEA R
(A) Paal-Knorr synthesis (A) TITH—‘I\TIWUT A
(B) Knorr pyrrole synthesis (B) I IS WY 4
(C) Hantzschpyrrole synthesis (C) %W‘I'Sﬁﬁ T 4
(D) Madelung synthesis (D) BT Hyeyuy
79. lflx—_—zlzothen 79. ﬁ‘an?_o,z—h
x-2 ’ x-=2 .
(A) x=2 AA) x=2 _
(B) x>2 ' (B) x>2
(C) —2<xx52 +(C) -2<x<2 “aze
(D) x= 2o0rxs-2 D) x> 2dqTx<—2 s .
80. The criteria of essentiality of nutrient | 80. VHTENR SowFTFT g -
elements were given by i mn - —
(A) Nicholas (A) T :
(B) Arnon » (B) 3T 5
(C) Parker (C) YrER- \ s
(D) Arnon and Stout (D) A 3R w3z \
L -12- ' ‘
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81.

AN

82,

83.

84,

85.

86.

87.

88.

(A) CRAY3

The “Indi
from
(A) 6 October 1gg

0
(B) 1 July 1882
(C) 1 September 1873
(D) None of the aboye

First Super-computer of India is

(B) HITAC s-309
(D) ARYABHATA
Most sites of the Mature Harg

Civilisation aka Indus Valley G an
ivil
actually found along the bgd of tlﬁgtlon are

(A) - Ganga river -
(B) Yamuna river

(C) PARAM

(C) Ghaggar Hakra river ?”’rgo
(D) Bias river ‘d\[”%fr&

In CE configuration, if the voltage drop
across 5 kQ resistor connected in the
collector circuit is 5 V. Find the value of I

when B = 50.
)
©

(A) 0.01 mA
(C) 0.03mA

is the most widely spoken dialect of
Haryanvi.

(A) Bagri
(C) Ahirvati

0.25 mAp 5.

(B) Bangaru
(D) Khariboli

In an examination there are 3 multiple
choice questions and each question has 4
choices. Number of ways in which a student
can fail to get all answer correct is

(A) 11 (B) 12

(C) 27 (D) 63

Modern computer keyboard generally

contains keys.
(A) 104 (B) 53
(C) 26 (D) Al of the above

Highest magnetite ore available in India is
(A) Orissa

(B) Chhattisgarh

(C) Karnataka

(D) None of the above

0.02mA* #Ese

81.

82.

83.

84.

85.

86.

87.

88.

3/2018 (5)
| AL

T €€ Efedl
(A) 6@1860 .
) 1S 1882

e 1 frqet 1873

(D) mﬁ@raﬁiaﬁf

T T TS YT F &
(A) CRAY3 (B) HITAC S-300

(C) T A;D)
o wewT were qu iy o
¥ o e % (W) T H

m-mmaﬁ%l
(A) T

S{\é " @) T A

(C) TR EHU T
(D) =T et

cE i #, ¥ 5 kQ TRAIEH | Jleds
firraz 5 V & < 3 wames afy dgere, o
B = 50 B T |, 1 T I1d |

(A) 0.01 mA (B) 0.25mA

H(C) 0.03mA (D) 0.02mA

e i gdifie Siel seart

EISi . :

(A) <TTS! (B) T®

(C) IErEm: AD) WeEet

T T H o T foreed SR B § ol

el W 9 T R 8, R T d Rt w

B GVt IR 1 T F H ST B AT B

(A) 11 (B) 12

(C) 27 (D) 63

MY e et e & g

Fiorat Bt 2 |

(A) 104 (B) 53

(C) 26 (D) I T+t

A § I=Ian AHeTge ek 3

IqTTeY B

(A) IS

(B) Bitemg 6

(C) Ftes JS N

(D) 39 & & Fs 7 @ ~
0-® .27 - 1
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English Language \
Select ich i - wrong -
the sentence which is grammatically 95, ﬁmm,.z,,
89. (A) Who do you think she is 7 ] M) FA 3 g
((g}' Eaiﬁ of thle scholars has d::;e;eine v(B) ¥ 3fH 5 oh
) p:'lwero them was invi JO) T3 F et
(D) | was the man whom they thoug"" 0) F= &g 7
was dead
96, 0 fren vz 2
90. (A) |am astall as sheis TR o
(B) I swim better than him (A) TTEm 2 (8) 7=
AC) He gave me an advice ok (C) T (D) 7=
HD) Between you and me affairs l00K
Select the correct option for the underiined wordin | 97, ZEEBTEITAT HEE T FE 2
the following sentences : &~
(A) FFF 0 T4
91. They meet regularly at each other's house. (B) =7 o yuifad 7 #A1
(A) Q|stnp{ft|ve pronoun (C) FFSF
(B) indefinite pronoun
(C) demonstrative pronoufl; .. . ﬁ} - (D) |EAT FAT
(D) reciprocal pronoun - TE v =TIy
% -
92. None of his friends have came forward to 98. WET AR HIE !
help him. (A) T
(A) Indefinite pronoun " .
(B) Interrogative pronoun* (B) Siqar= 1
(C) Distributive pronoun (C) =aF
(D) Demonstrative pronoun (D) rCCit
Select compound sentence from the following : . -
P , e 99, RTHI F @i fawes 2
93. (A) Itold him tha't he would be promoted (A) g + 39F (B) T+ IF
(B) When the siren sounded, all traffic ' ofy + 3T
came to a stop - (C) Teg® + F (0)
(C) He is a scientist and a philosopher too 3
(D) Smoking is bad for health 100, M U @ & AR H Fafarea ¥
94, (A) You can go by bus or by train (A) TH 2@ Al
(B) |shalldo as | like 8 mgﬂa@gaﬁf%n
(C) When we went there we found that he
had gone () WA & e
(D) The annual sports will be held tomorrow \,@)’ .zmaz‘l@ﬁwm
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